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Problem quickname: 6165

1)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)

8 8 4 8 ÷ 7 9 = 1 1 2
7 9 1·79=79

9 4
7 9 1·79=79

1 5 8
1 5 8 2·79=158

0

b)

3 0 5 8 ÷ 2 2 = 1 3 9
2 2 1·22=22

8 5
6 6 3·22=66

1 9 8
1 9 8 9·22=198

0

c)

2 8 8 0 ÷ 1 6 = 1 8 0
1 6 1·16=16

1 2 8
1 2 8 8·16=128

0 0
0 0·16=0

0

d)

1 8 6 0 ÷ 3 1 = 6 0
1 8 6 6·31=186

0 0
0 0·31=0

0

2)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)
6 8 0 ÷ 8 4 = 8
6 7 2 8·84=672

8 b)
2 8 4 ÷ 4 2 = 6
2 5 2 6·42=252

3 2

c)

3 0 2 ÷ 1 4 = 2 1
2 8 2·14=28

2 2
1 4 1·14=14

8

d)
8 4 0 ÷ 9 5 = 8
7 6 0 8·95=760

8 0

3)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
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numbers.

a)
5 7 3 ÷ 8 4 = 6
5 0 4 6·84=504

6 9 b)
6 5 2 ÷ 9 7 = 6
5 8 2 6·97=582

7 0

c)

8 2 1 ÷ 8 0 = 1 0
8 0 1·80=80

2 1
0 0·80=0

2 1

d)

4 9 0 ÷ 1 0 = 4 9
4 0 4·10=40

9 0
9 0 9·10=90

0

4)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)

4 6 7 6 ÷ 2 9 = 1 6 1
2 9 1·29=29

1 7 7
1 7 4 6·29=174

3 6
2 9 1·29=29

7

b)

9 6 9 4 ÷ 2 2 = 4 4 0
8 8 4·22=88

8 9
8 8 4·22=88

1 4
0 0·22=0

1 4

c)

5 4 7 2 ÷ 5 7 = 9 6
5 1 3 9·57=513

3 4 2
3 4 2 6·57=342

0

d)

3 8 7 4 ÷ 5 9 = 6 5
3 5 4 6·59=354

3 3 4
2 9 5 5·59=295

3 9

Good Luck!
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